1)2)&-%-)( = 5X
2) Ak + x| =|HYx
3)| My + y| =5
1) M98 " 3y
o) 54 1 4/ Y
¢) 52 -2z = |3z
72) 52 -32 = 23
%)5%—"i2= 2
5)52 ~52| = [

13) 5X - 8x|= |-3

14) 50 - Ra = - 32a

15) ta-8a = |-2a

76) 7a - 8a o

17) 8a - & 0

73) Ja - Ba = a

19) x |+ |X = [Ax

20) ylv+a T 3%

21) x + X +~5 Ax+ 29

27) x+é+x+~a= X 43y
2'5)34—)(1-3 + X< ;f,»’l'r.?é
24 ) X+ Y = J_t-'-u

25) 2x -4 = 2 *-a
26)2,x+3-+ 21-a= H X
2%) A tAx+d -4 =

28) X+ 3+ x =/ 2x + 5
29)g5+ 1 *235 53-{[
36) x #3 +x+ 3y r(t2y=

AR+ DBy |+ 4
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3) Ax* 4 x| = |3y
32) 3+ X7 = Yy
33)‘1; + X" = Ky
3‘9“()(2-)(1: X
35) Sx*-(x*= . 4x
36) 5x “-ix>= |4
37)58 - x =

*8) 1(3x - é)

19) A(3x-6) =

50) 3(3%x-6) =
5)) 1(3x-6)
51) -1 (3x~6)
55)-2(3%-b) =
54) -3(3% -b) =
55) -4 (3x -6) =
50) X (3% -6) =
53) X (3x-6) =
58) x*(34-6) =
69)x”(3x-6)=‘
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€0) X + (x +6) = Ax+ ¢

bl) x - (x +6)=-¢(

GZ) x| + [(x| + )= Fx+i(

63) ax| - | x| + 6)= X -{

69) X + (2x +6)= 23X +0

é5)7( - (ax+p)= — x -0
6b)(3x - ¢) + (‘h(-f-‘}): p S
67) (3x-6) — (4x+ #)= —x —I%
68) (2x - y) + (3x - y)= 5x - 2y
63)(“"3)" (3x -y) 7T —X
0)dx + 1(-3x+ 1)< —x + |

?1)21‘ +2("3ﬁ+|}: _.;‘_{‘*L’E
)2 |+ B(-3x+1)dr27443
-13)2" - l"(—3.!'.1+ I):: OX + 9

9D Ax - 1(-3x+1)= 5x -
75’)3!-2{*3)(-%{): S l=1
Tp)Jax|- 3 (-32+)T Hix|-3
?32*’ 4 (L34 1 } 7 )|y y
%) ax + x (-3x+1)= - 3x
33)21- g £ + El=Saxth
79) 3x (x-6) + Ax(3x-1)= 9x" - 20«x
%) 3x (x -6) = Ax (3x~1) = -3x* - 1¢x
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